Math 114 Name:
Midterm 1
Mon Apr 28, 2008

YOU MUST SHOW LOGICAL, NEAT AND ORGANIZED WORK TO EARN FULL CREDIT

Solve for x.
[1] 11-5x-1|=1 [10 POINTS]
—Slx=1]=-10
Ix—) = 2
X"‘ =2 on X-— f=—2
X=%3 on y=-—|
(2] I3-2x|>9 [10 POINTS]

3#2_>('>q X2 g"l)(_/.’q
—2x > b ok 2x < |2
X< =% or X.= (o

Solve using elimination. Write your final answer in (x, y) form.

[3] 2x+3y=4 ¥ -5 [10 POINTS]
Sx+4y= 17 % 2
~10x - 154="20 2x +3(2y=4
IO x +8”%¢?>4 Ax —6b =4

2x =10
Xx=5

(5,-2)

~y = 14
e



Write an equation for the following problem, then solve.

[4] A number divided by four is equal to twelve divided by the sum of that number and two. [10 POINTS]
oAy (x+)x—6>=O
wlxr2d =42 x==§ oe x=b
X+ Ax =4¥

X+ 2x —4E8=0

Write a proportion for the following problem. YOU DO NOT NEED TO SOLVE THE PROPORTION.

[5] A car can travel 392 kilometers on 25 liters of gas. [S POINTS]
How many liters of gas does it need to travel 554 kilometers ?

242 _ 554

—

=5 T X

Solve for x in the following similar triangles.

(6] [10 POINTS]
% 20
2.#
x+3
x _ 20 b+ &Xx-5) =0
2 T X+D : ) 5
- 2 X:‘..
}{(x*%>;q0 X/’S/or
xra %X = 4O x=5

QA =40 =0



Sim plify.

2— —
(7] 6x° —5x—4

6x2 —9x—6

= 2T 3% —4)
R (2 D (x -

= Rx—4
x-2)

[8] x—3_2 ' C»(*B)
i3 (x-3)

2 —2(x—3)
U(x=2) +]
> D_x-&—-e__
L2+ )
T2x+8
Hx—11|

] xtlx % (41D

5
w1ty X(x+D)

= 2x + 30+ 1)
5% % Jdwel)

= 2%+ 3x+3
OX A4 2xs2

= BEx+3
Ix+2

i

)

[10 POINTS]

Ex*-5%x—4 b(-4)=~24 = PS
= 6X*-8x+3x—4 -5 = R+S
= 2(Rx=4Dd+ | (Rx—4F) -%,3
= (xc+ I 3x-4)

Lx*-Gx -6 .
- — Y- -2)= ~4= .

2 (2x*-2x 2y 5l I ool
= 3(2){"—-—-4){ ‘FY"‘Q) --L)) )
= 3(2x(x=2) ) (x~2))
= A Dx+) X x ’-Z)

[10 POINTS]
[10 POINTS]



Perform the algebraic operations and simplify.

x*4+2x-15 x*-9x+14

oy LI 2 I E 10 POINTS]
6D D=
T (A (A3
= X—]
X+3
2B, [10 POINTS)
C Bx+5)3x=5) (e DD
- 2 (x4 3(2x=BD
= (BX*B_XX'* )
9
nz = j;x—xzztlgg [10 POINTS]
_ 2><Z+3x~‘x”*~*|§ - @*QX}’(E)
x* -G (><'+ 3)(&’@
f:.'*'— %*)/\--\_(E e X*"é
WP o‘ X-J»-_S
13 ey [10 POINTS]
- :2(')( ’?3>_:..._..>§__<——?—(-—:-‘%> = -,7<7'..;~ L")( - 6 €—..|
(x-2Yx~3) (x-D(x-3)
. Ox—b = XA DX b*-“4ac
SRS = 42 4(Y-0)

i\

-

NOT FACTORAGLE



14 _
A ¥ =3x+2 x'-5x+6

[15 POINTS]
= X A+ | e —~2

G- Yx2D (23D
(e Yx~D) = (=2 1D
(%~ 1 Y= 2)(x=3)
X*=2x =3~ (x*=3x+2D
(x—D(x -2Dx—3)

3 s By W Ny~
(x— D x-2Ax-3)

_ x-5

ﬂ (xfi)(x——gj(,(-—j:)

\

1)

Solve for b.

2.3
B L<t=
Hal —=5

(2 )3 (b
s~ Ga= Seck
2b - 3ab=5a

L(2-2D=5x
L= _ba
2-3a

[10 POINTS]




